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REMEDIAL TEST TIMETABLE FOR S4

DATE AND DAY FACULTY NAME SUBJECT WITH
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23/04/19 Mr. Abhishek C V FM II - CE 206

24/04/19 Ms. Risha fathima ismail GE I- CE208

25/04/19 Mrs. Shilpa Valsakumar SA 1-CE 202
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TECHNOLOGY

REMEDIAL CLASS DETAILS

Department: CIVIL ENGINEERING

Date: 25/04/19

Venue: S4 CE CLASSROOM

Semester: Four

Subject: STRUCTURAL ANALYSIS I

Faculty: Mrs. SHILPA VALSAKUMAR

Topic: MOVING LOADS, CABLES AND ARCHES

Register number of student attended: SNC17CE013, SNC17CE006,
SNC17CE041, SNC17CE043, SNC17CE026, & SNC17CE024.

FACULTY HANDLED DEPT. REMEDI§LCOORDINATOR
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8 SREE NARAYANA GURU COLLEGE OF ENGINEERING &

1

2)

TECHNOLOGY

REMEDIAL QUESTION PAPER

(2015 — SCHEME)

The system of concentrated load 20, 60, 60, 50, 40 kN respectively having spacing
1.5m, 1.5 m, 2m, 1m, consecutively move from left to right on a girder of span 15m.
Determine the maximum shear force and bending moment for a section 4m from the
left section. (15 marks)

A cable of span 120 m and dip 10 m carries a load of 6 kN/m. Find the maximum
tension in the cable and inclination of cable at the support. Find the forces transmitted
to the support. Find the forces transmitted to the support in pier if the cable passes
over smooth pulleys on top of the pier. The anchor cable is at 30 degree to the
horizontal. Determine the forces and bending moment on the pier if the height of the

pier is 15 m. ( 10 marks)

Dr. LEENAAV
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &

1)

2)

TECHNOLOGY

REMEDIAL ANSWER KEY

Maximum negative shear =24.66 kN (5 marks)
Maximum positive shear = 121 kN (5 marks)
Maximum bending moment = 533.94kNm (5 marks)
Reactions = 360kN, (1 mark)

Horizontal reactions = 1080kN (1 mark)

Maximum tension = 1138 kN (2 marks)

Angle = 18.43 degree (2 marks)

Vertical forces on the tower =9291 kN (2 marks)

Horizontal forces on tower=94.13kN (2 marks)
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SREE NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY

ACADEMIC YEAR: 2022-2023/0DD SEM

Remedial Timetable for S3
Library Hour: Tuesday -3:00 pm to 4:00 pm
Date and | Faculty Name Subject with Code

 Day

| 25-10-22 Mrs. Thulasibai A CST 201 DS
01-11-22 Mr. Divyathej MV EST 200-DE

08-11-22 Mrs. Varsha M CST-203-LSD
15-11-22 Mrs, Thulasibai A CST 201-DS

22-11-22 Mr. Divyathej MV EST 200-DE :

29-11-22 Mrs. Varsha M CST-203-LSD 3

Physical Education Hour: Friday-1:00pm to 2:00 pm

Date Faculty Name Subject with Code |
04-11-22 | Mr. Priyesh IMCNZOI8E |
Padhmanabhan _ Dok

11-11-22 Ms. Nimisha MK
18-11-22 Mr. Nikhil
25-11-22 | MrPriyesh
Padhmanabhan g
02-12-22 Ms. Nimisha MK
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DEPARTMENT OF

E

ACADEMIC YEAR: 2022-2023/0DD SEM

SREF NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY

REMEDIAL TEST TIMETABLE FOR 83

Date and | Faculty Name Subject with Code

Day

17-11-22 Mrs. Thulasibai A CST 201 DS

23-11-22 Mr. Divyathej MV | EST 200-DE

30-11-22 Mrs. Varsha M CST-203-LSD

15-11-22 Mr. Nikhil MAT 203-DMS

30-11-22 Mr. Priyesh MCN 201-SE
Padhmanabhan

05-12-22 Ms. Nimisha MK | CST 205-00PUJ
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SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY

REMEDIAL CLASS DETAILS

Department: COMPUTER SCIENCE AND ENGINEERING

Date:11/11/2022

Venue: S3 CSE CLASSROOM

Semester: 111

Subject: OBJECT ORIENTED PROGRAMMING USING JAVA

Faculty: Ms. Nimisha MK

Topic: Basic OOP and Java Programming Concepts

Roll number of students attended: SNC21CS001, SNC21CS002,
SNC21CS003, SNC21CS005, SNC21CS006, SNC21CS01 6, SNC21CS030,

SNC21CS031, SNC21CS032
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Department: COMPUTER SCIENCE AND ENGINEERING
Academic Year: 2022-2023/0DD

Date:02/12/2022

Venue: S3 CSE CLASSROOM

Semester: 111

Subject: OBJECT ORIENTED PROGRAMMING USING JAVA :
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SREE NARAYANA GURU COLLEGE OF ENGINEERING & TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 205 OBJECT ORIENTED PROGRAMMING USING JAVA

S3 CSE 2022-23 (BATCH 2021-25)
REMEDIAL CLASS TEST QUESTION PAPER

Register Number: ..........ooooomiinnnnan

D MULTIPLE CHOICE QUESTION -~ OOP CONCEPTS

. Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
¢. Exception
d. Abstraction
Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation

3. Polymorphism
4. Inheritance
Which among the following feature is not in the general definition of OOPS?
a  Modularity
b. Efficient Code
¢. Code reusability
d. Duplicate or Redundant Data
4 Which feature of QOPS derives the class from another class?

a. Inheritance
b. Data hiding
c. Encapsulation

d. Polymorphism
Which operator from the following can be used to illustrate the feature of

f—

ra

5
polymorphism?
a. Overloading <<
b. Overloading &&
c. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdio.h
b. iostream.h DZ)}/
¢. stdlib.h /
d. We can easily use the OOPS concepts in ct+ programs Without easing/
header file. ‘ uuwm”“"m M
7. Which among the following cannot be used for the concept of polymorpﬁﬂﬂ?‘“'
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a  lava 15 a sequence-dependent programming language

b. Java is a code dependent programming language

¢ Javais a platform-dependent programming language
d  Java is a platform-independent programming language

Which component is used to compile, debug and execute the java programs’

a JIRE
b, T

¢. DK
d VM

Which of these cannot be used for a variable name in Java?

a. wdentifier & keyword
b. dentifier

¢. keyword

d. none of the mentioned

What will be the output of the following Java code?

class increment

{
public static void main(String args[])
{
int g = 3;
System.out.print(++g *8);
!
}

2 I

b. 33

c. 24

d 25

e.

What will be the output of the following Java program?

class output |
public static void main(String args(])

{
i

double a, b,¢;
a=3.0/0;

b = 0/4.0,

¢=0/0.0;
System.out.printin(a);

G Scanned with OKEN Scanner
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System.out.printin(b);
System.out.println(c);

!

b,

B

NaN
Infinity

all of the mentioned

7. What is not the use of “this” keyword in Java?

a. Referring to the instance variable when a local variable has the same name
b. Passing itself to the method of the same class

¢. Passing itself to another method

d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?

a.
b.
c.
d.

class variable_scope

{

public static void main(String args[])
{

int x;

x=35;

{

inty=6;

System.out.print(x + " * + y);

1

s

System.out.println(x + " " + y);
1

}

Compilation error
Runtime error
5656
565

9. What will be the output of the following Java program?

class leftshift_operator
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public static void main(String args[])
{

byte x = 6‘4;

inti;

byte y.

1=x<<2;

y = (byte) (x <<2);

System.out.print(i + " " + y);

a. 0256
b. 064
c. 25690
d 640

10. What is the extension of compiied java classes?
a. txt
b. js

c. .class
d. java

ANSWER KEY
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SREE NARAYANA GURU COLLEGE OF ENGINEERING
DEPART MENT OF COMPUTER SCIENCE AND E
CST 208 OBJECT ORIENTED PROGRAMMING USING J

83 CSE 2022-23 (BATCH 2021-25)
REMEDIAL CLASS TEST QUESTION PAPER

Date: . 5/12/aa
Name: .;,\\:\\Qmwl . \}\'\(\“ TR

Which of the following is not an OOPS concept?

a. Encapsulation

h. Polymorphism

£ Exception

d. Abstraction

Which feature of OOPS described the reusability of code?
Abstraction

2. Encapsulation

3. Polymorphism

4, Inheritance ~~
Which among the following feature is not in the general definition of OO0OPS?

s

a

b. Efficient Code

¢. Code reusability

d. Duplicate or Redundant Data~””

Which feature of OOPS derives the class from another class?
a. Inheritance.””

b. Data hiding

c¢. Encapsulation

d. Polymorphism

Which operator from the following can be used to illustrate the feature of
polymorphism?

a. Overloading <<

b. Overloading &&

Overloading | |

d. dOverloading +=
Which header file is required by the C++ programming language to use the OOPS

c.

concept?

4.

b.
c.
d

&TECHNOLOGY
NGINEERING

Kegister Number: .. SH(3

. We can easily use the OOPS concepts in ct++ prog '\J'ﬁl‘(‘)gggusing any

header file.,”
Which among the following cannot be used for the concept

G Scanned with OKEN Scanner



Static member function
Constructor Overloading
Member function overloading.
\ wh'd\‘ tlobal member function . ' '
ich membey function is assumed to call first when there is a case of using function
overloading or abstract class?
4. Global function.,,
b. Local function
¢ Function with lowest priority
d. Function with the highest priority
9. Which among the following is not a member of the class?
4. Virtual function
b. const function
¢. Static function
d. Friend function.”
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
¢. Private member.
d. All of the mentioned

g op

M) MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

I Who invented Java Programming?
a. Guido van Rossum
b. James Gosling.”
¢. Dennis Ritchie
d. Bjame Stroustrup

!\J

Which statement is true about Java?

a. Java is a sequence-dependent programming language
b. Javais a code dependent programming language
Javais a platform-dependent programming language

o

d. Java is a platform-independent programming languag

3. Which component is used to compile, debug and execute the java programs"

a. JRE
b. JIT
c. DK/
d. VM y
4. Which of zhc.sc cannot be used for a variable name in Java? W,,;ga
a. identificr & keyword “mmiw
b. identifier
c. keyword .~

d. none of the mentioned
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What will be the Ouiput of the following Java code?

clags merement

4
t

public static void main(String args( )

{
mtg =3
System out print(+-+g * §);
} i
} |
. W |
u. a3
c. 24 E
d 25 ‘l

6. What will be the output of the following Java program?
class output {

public static void main(String args[])

{

double a, b,c;

a = 3.0/0;

b=0/4.0; ‘
¢=0/0.0;

Systein.out.printin(a);

System.out.println(b);

System.out.println(c);

}

b

a. NaN
b. Infinity
c

d

. 0.0
_ all of the mentioned””

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiie
bh. Passing itself to the method of the same class./
¢. Passing itself to another method
d. Calling another constructor in constructor chaining

&. What will be the output of the following Java program?
class variable_scope |
public static void main(String args(])

s
1

int x;
X = 5 D())/
f /
1
inty =6,
Dr. LEENAAV
Pﬂlmmmw
MII.‘W‘”.

& |
G Scanned with OKEN Scanner
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s UNL LUD UDJILL B WER R Y = =

System.out print(x + " " + v

}

Systcm.out.primln(x S

!
j

10,

Compilation error
Runtime error
5656

565

o T

What will be the output of the following Java program?
class leftshift_operator

{

i
public static void main(String args{])

{
A

byte x = 64;

int i;

byte y;

T 5L

y = (byte) (x << 2);
System.out.print(i + " " + y);
;

}
a. 0256

b. 064 /
c. 2850~

d 640

What is the extension of compiled Java classes?

Axt
Js

.class/

Java

. O 0 R
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 205 OBJIECT ORIENTED PROGRAMMING USING JAVA

S3COSE 2022-23 (BATCH 2021-25) | g
REMEDIAL CTASS TEST QUESTION PAPER = -‘

A,
Date: 06112]22 Ty o
me:. ABHINAV. X Register Number: LBNCRICS5004...

D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
i Exception
d. Abstraction
Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4/ Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a  Modularity
b. Efficient Code
¢. Code reusability
& Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
& Inheritance
b. Data hiding
c. Encapsulation

d. Polymorphism
S Which operator from the following can be used to illustrate the feature of

r

polymorphism?
A Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the QOPS
concept?
a sidioh
b. iostream.h
¢. stdlib.h
S We can easily use the OOPS concepts
header file. ‘
. Which among the following cannot be used for the concept of,pal\ymorphism?

n ¢+t programs without using any
% A "'\‘\)?\

' \‘:f “Z:A‘ {

G Scanned with OKEN Scanner



Static Member function
Constructor Overloading
Membey fanction overloading
d Globgi Member function .
& Whic membey function s assumed to call first when there is a case of using function
(‘\"crloadmg or abstract clagg?
a4 Global function
b. Local function
¢ Function wigh lowest priority
A Function with the highest priority
- Which among the following is not a member of the class?
& Virtual fanction
b. const function
€. Static function
\A Friend function
10. Which member of the ¢
. Public member
b. Protected member
£ Private member
d. Al of the mentioned

9

uperclass is never accessible to the subclass?

M  MuLTIPLE CHOICE QUESTION — JAVA PROGRAMS

I. Who invented Java Progrannning?
2. Guido van Rossum
b7 James Gosling
¢ Dennis Ritchie
d. Bjame Stroustrup

2. Which statement is true about Java?
a Javaisa Sequence-dependent programming language

a. JRE
b. JNT

2 JDK
d JVM

a. identifier & keyword

b. identificr y
vg:’kgyword

AV
d. none of the mentioned Dr.
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3. What will be the output of the following Java code?

class imcrement

4

public static void main(String args||)
{

mtg=3;

System out print(++g * R,

6. What will be the output of the following Java program?
class output {

public static void main(String args|[])

{
1

double a, b,c;

a = 3.0/0;

b=0/4.0;

¢=0/0.0;

Systeimn. out.printin(a);
System.out.printin(b);
System.out.printin(c);
}

}
a. NaN

b. Infinity
¢c. 0.0
xd./ all of the mentioned

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naie
b/ Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

£ What will be the output of the following Java program?
class variable scope {
public static void main(String args[])

s
t

int x; W

X = §; /
AV

_: Or. LEENAR

inty = 6, ”mmwﬁm
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Dat:

System.out print(x + " " + y);
\
)

System.out.println(x + " " 4 v

—at g

a. Compilation error
b Runtime error

C. 5656

d 065

What will be the output of the following Java program?

class leftshift_operator

i

{
public static void main(String args{[)

{
1

byte x = 64,

int i;

byte y;

I=x<<2

y = (byte) (x << 2);
System.out.print(i + " " + y);

}

1

f
a. 0256
b. 064
< 2560
d. 640

10. What is the extension of compiled java classes?

4. Ixt
b. Js
" .class
d. java
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 208 ORIECT ORTENTED PROGRAMMING USING JAVA

S3CSE 202223 (BATCH 2021-25) ¥
REMEDIAL (T.ASS TEST QUESTION PAPER I,

Date

D MU C TION b !

I Which of the following is not an OOPS concept?
a Encapsulation
b Palymorphism
¢ Exception
" d Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
_A. Inheritance
1 Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
& Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
a. Inberitance
b. Data hiding
c. Encapsulation
.4/ Polymorphism
5 Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<
b. Overloading &&
¢ Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS

concept?
a. stdioh
b. iostream.h
¢. stdlib.h
47 We can casily use the OOPS concepts i ¢++ programs without using any
header file. LEE e *\\’*"\j&

7. Which among the following cannot be used for the co'nccbt ot‘polymei‘ﬁl;ism?

T
2|
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LA Static member function
b. Constructer ()vcrloading
¢. Member function overloading
d. Global member function
Which member function ig assumed to ¢
overloading or abstract class?
a. Global function
b. Local function
¢. Function with lowest priority
A Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
¢. Static function
4. Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
_&  Private member
d. All of the mentioned

Q
L3 A

I MULTIPLE CHOICE QUESTION — JAVA PROGRAMS

. Who invented Java Programming?
a. Guido van Rossum
b James Gosling
¢. Dennis Ritchie
d. DBjarne Stroustrup

2. Which statement is true about Java?
a. Java 1s a sequence-dependent programming language
b. Java is a code dependent programming language
¢. Javais a platform-dependent programming language
& Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

A IRE
b. JIT
¢ IDK
d JVM
4. Which of these cannot be use(! for a variable name in Java? UO"/
a. identifier & keyword o LEENAAV
b. identifier e Pﬂlﬂc'm%mma
¥ keyword ENGIERTYANUR, KANNUR

. d. none of the mentioned
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3. What will be the output of the following Java code?
{
public static void main(String args{])
{

ntg=3;
System out print(++y * 8),
}

H

e
ra

3

L

X
b.
c M
d 2§

6. What will be the output of the following Java program?
class output {
public static void main(String args(])
{
double a, b.c;
a=3.0/0;
b=0/4.0;
c=0/0.0;
Systen.out.println(a);
System.out.println(b);
} ; iR
H
a. NaN
b. : Faf Dkl
¢. 00 epabiph, i )
_& all of the mentioned

7. What is not the use of “this” keyword in Java?
a RcfarmgwﬂacmshnocvmblcwhmaloﬁalvMeMM‘mm L
b Passing itself to the method of the same class
¢. Passing itself to another method
d. Calling another constructor in constructor chaining

& What will bcﬂwmmlnofﬁlcfollowinglmmm?
class variable scope {
public static void main(String args[])
{
nt x;
x=5;
{
inty = 6;

(¥ Sscanned with OKEN Scanner
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:mw:wuy);
)

A Compilation error

c 5656

d 565

9. What will be the output of the following Java program?
class lefishift_operator
{
?lbﬁcauﬁevm’dmain(smtfgsﬂ)
byte x = 64;
nti;
bytey;
=Xk
y=(byte) (x<<2);
ngwtpﬂnﬂi TRy
H

}s

a. 0256
b. 064
o/ 2560

- d. 640

10. What is the extension of compiled java classes?

4 1xt
b. s
S .class
d. java

s el R SR

s i
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &TECHNOLOGY
DEPART MENT OF COMPUTER SCIENCE AND ENGINEERING
CST 208 ORIECT ORIENTED PROGRAMMING USING JAVA

S3CSE 2022-23 (BATCH 2021-25)

REMEDIAL CLASS TEST QUESTION PAPER yay,

20

Date: .. 5)18/22 5

Name:. 2kiaam.Sun!! Kegister Number: ... SAL(21 L5005 ...
D MULTIPLE CHOICE QUESTION - OOP CONCEPTS

1

'PJ

Lh

~J

Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
c. Exception

" d. Abstraction

Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance

Whlch among the following feature is not in the general definition of OOPS?

a. Modularity
b. Efficient Code
¢. Code reusability
\)d./ Duplicate or Redundant Data

~ Which feature of OOPS derives the class from another class?

.3 Inheritance
b. Data hiding
¢. Encapsulation
d. Polymo

Which operator from the following can be used to illustrate the feature of

polymorphism?

/ Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=

Which header file is required by the C++ programming language to use the OOPS

concept?
a. stdio.h
h. iostream.h
¢. stdlib.h

/ We can easily use the OOPS concepty/in c++ programs W@‘g&t using any

header file.

A \rv
< LN

(“ g Q'i{‘l\k‘

- Which among the following cannot be used for the canceptyof pﬁfymomhlsm?

a.‘\ .
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& Static member function
b Constructor Overloading
¢. Member function overloading
d. Global member function
8 Which member function is assumed to call first when there is a case of using function

overloading or abstract class?
a. Global function
b. Local function
¢. Function with lowest priority
.. Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
¢. Static function
4. Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
&. Private member
" d. All of the mentioned

)  MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. ido van Rossum
\/k./?;umes Gosling
¢. Dennis Ritchie
d. Bjame Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
¢. Java is a platform-dependent programming language
Md/ Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. JRE

b. JIT
¢ IDK

d. JVM

4 Which of these cannot be used for a variable name in Java?

a. identifier & keyword |
b. identifier ~ /

\/c./ keyword : L
d. none of the mentioned “';*"ﬁ;.”'m e
SREE MARMANA QUL 06
B KANAR
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5. What will be the output of the following Java code?

class increment
public static void main(String args(])

{

ntg=3;
System. out.print(++g * 8);
}
}
i 32
Tbo 33
¢ 2
d 25

6. What will be the output of the following Java program?
class output {
public static void main(String args[])
{
double a, b,c;
a=3.0/0;
b=0/4.0;
¢=0/0.0;
System.out.printin(a);
System.out.println(b);
System.out.println(c);

§
i

H
a. NaN

b. Infinity
c. 0.0
/" all of the mentioned

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiie
/ﬁ.yPassing itself to the method of the same class
¢. Passing itself to another method
d. Calling another constructor in constructor chaining

& What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])
f

int x; /

x — 5' v
’ Dr. LEENAA
PRINCIPAL
{ 'GURU COLLEGE OF
SREE WARATANA GURY COLTCE
inty = 6; wm'“ml
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System out print(x + " " 4 y);
H
System.outprintln(x + " " + y);
!

y .
Compilation error
b. Runtime error
c. 5656
d 5635

9. What will be the output of the following Java program?
class leftshift_operator
{
public static void main(String args||)
{
byte x = 64,
inti;
byte y;
1=x<<2;
y = (byte) (x <<2);
System.out.print(i + " " +y);
}

} _

a. 0256
b. 064
e 2560
d 640

10. What is the extension of compiled java olasses?

4. .txt
b. }

. .class
d. java
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) MULTIPLE CHOICE QUESTION - OOP CONCEPTS

|. Which of the following is not an QOPS concept?

a. Encapsulation
b. Palymorphism
F Exception
"4 Abstraction
2 Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
X Inheritance
Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
){i’ Duplicate or Redundant Data
Which feature of OOPS derives the class from another class?
Inhcntance
b Data hiding
¢. Encapsulation
d. Polymorphism
Which operator from the following can be used to illustrate the feature of
polymorphism?”
\/z Overloading <<
b. Overloading &&
c. Overloading | |

d. dOverloading +=

6 Which header file is required by the C++ programming language to use the OOPS

concept?
a. stdioh
b. iostream.h
c. stdlib.h
A~ We can easily use the OOPS concepts in ¢ progr w1thout gs% any

header file. o
7. Which among the following cannot be used for the concept of pebnnq:phmm?

u“J
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a  Static member function
“b. Constructor Overloading
- Member function overloading

d. Global member function

8. Which member function 1s assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
¢ Function with lowest priority

d. Function with the highest priority
9. Which among the following is not a member of the class?

a. Virtual function

b. const function

¢. Static function

4. Friend function

10. Which member of the superclass is never accessible to the subclass?

a. Public member
Protected member
Private member
All of the mentioned

2l 2~ S

m MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

. Who invented Java Programming?
a. Guido van Rossum
. James Gosling
¢. Dennis Ritchie
d. Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language

b. Java is a code dependent programming language
c. Java is a platform-dependent programming language
~ Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. JRE

b. JIT

" IDK

d JVM

4. Which of these cannot be used for a variable name in Java?

a. identifier & keyword /

b. f}:ntu»lc(; Z Lﬁﬁﬂx"
“keywor PRINCIPAL | ¢ o
d. none of the mentioned wﬂw lw

G Scanned with OKEN Scanner


Stamp


5. What will be the output of the following Java code”

e

class increment

{

public static void main(String argsi])
{

intg =3,

System out print(++g * &)

}

1

|

a 32
b 33
c. 24
g7 25

"

6. What will be the output of the following Java program?
class output {
public static void main(String args|])

{
k!

double a, b,c;
a=3.0/0;

b=0/4.0;

¢=0/0.0;
System.out.printin(a);
System.out.printin(b);
System.out.println(c);

1
j
1
y

a. NaN
\Vb./l;[nﬁnity
S L

d. all of the mentioned

7. What is not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiiie
i Passing itself to the method of the same class
¢. Passing itself to another method
d. Calling another constructor in constructor chaining

% What will be the output of the following Java program?
class variable_scope {
public static void main(String args[])

]
1

int x;

x=5;

d

int o 6; /

Dr. LEENAAV
PRINCIPIN oLLEGE OF
SREE NARAYANA GURY
m‘w

Ll
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Mi+'*+y);

!

MM‘*""Y‘;

!
} ;
Mm
b Runtime error
c 5656
565

9. What will be the output of the following J
oluss efahif Pk a owing Java program?
{

{

byte x = 64;

int i;

byte y;

i=x<<2;

v = (byte) (x << 2);
System.out.print(i + " " + y);
}

B
a. 0256

b. 064
256 0
d 640

10. What is the extension of compiled java classes?

a. Axt

iy i

AMSRE BT ) g

!?:%’ ;
Sl ;o
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Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
¢. Exception
d. Abstraction
Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance.”
Which among the following feature is not in the general definition of OOPS?
a  Modularity
b. Efficient Code
¢. Code reusability
d. Duplicate or Redundant Data~/
Which feature of OOPS derives the class from another class?
a. Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<_/
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdioh
b. iostream.h
c. stdlib.h
d We can easily use the OOPS concepts i
header file.../
Which among the following cannot be used for

rograms without using any

concept of polymorphism?
oAU G S
\ 2 " '_L

A
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4. Static member function

b Constructor Overloading

€. Member function overloading
- d Global mftml\er function

nich m_cmhm' function is assumed to call first when there is a case of using function

overloading or abstract class?

& Global function

b. Local function

¢. Function with lowest priority

d. Function with the highest priority +/
9. Which among the following is not a member of the class?

& Virtual function «

b. const function

¢. Static function

d. Friend function
10. Which member of the superclass is never accessible to the subclass?

a. Public member

b. Protected member

¢. Private member .~

d. All of the mentioned

m MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
b. James Gosling ./
c. Dennis Ritchie
d. Bjarne Stroustrup

.l‘-)

Which statement is true about Java?

a. Java is a sequence-dependent programming language

b. Java is a code dependent programming language

¢ Javais a platform-dependent programming language

d. Java is a platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

T S ———————————————

a. JRE
b. JIT
c. JDK
d VM

4 Which of these cannot be used for a variable name in Java?

a. identifier & keyword |
b. identifier : : y

¢. keyword
d. none of the mentioned Dr. LEENAAV
COLLEGE OF
SREE WARAYANA QUTE s 00
B KNAR
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$ What will be the output of the follawing Java code?

chass erement

{

;{\\H& static voidd main(Steing urgs( )

gy \
System ot print(++y * 8);

!

}

x’r

N

~p ey

2
AU
N
A

& What will be the ouput of the following Java program?
class output {
pubhic static void main(String args(])
{
double 8, b
a= 300
b=04Q
Q0.0
System out printina)
Syaten out prntingb);
System out.prndn(e);
}
!
a NaN:
b Infinity
¢ 0o
4. all of the mentioned d

f3n + 3 BT

7 What is not the use of “this™ keyword in Java? ‘
2 Refermng to the instance variable when a local variable has the same naii
b Passing itself to the method of the same class v
¢ Passing itself 0 another method
& Calling another constructor in constructor chaining

S What will be the output of the following Java program?
class vanable_soope { :
public static void main(String args{])
\

ol x;
x=5

L

|

wmy =6
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1

System.out print(x + " " + ); '

System.out.println(x + " " + y);

3
1

a. Compilation error
b.
S,
43565

9. What will be the output of the following Java program?
class leftshift_operator

{

5656

public static void main(String args{])

{

byte x = 64; A

byte y;

i G o doal

y = (byte) (x << 2); i &

System.out.print(i + " " +y);

i
}

10. What is the extension of compiled java classes?

a. 0256
b. 064
c. 2560
d. 640

Axt

s
.class /
Jjava
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D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

1. Which of the following is not an OOPS concept?
a. Encapsulation
b. Polymorphism
& Exception
d. Abstraction
2. Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
d_ Duplicate or Redundant Data
4. Which feature of OOPS derives the class from another class?
& Inheritance
b. Data hiding
c. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of
polymorphism?
a. Overloading <<
~K Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
a. stdioh
b. iostream.h
L. stdlib.h
d. We can easily use the OOPS concepts in c++frograms without usmg any
header file. & TR
7. Which among the following cannot be used for the concept ofpolymommﬁm'f
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A Static member function ;
b. Constructor Overloading
¢ Member function overloading
_‘i Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
3. Global function
b. Local function
¢ Function with lowest priority
»( Function with the highest priority
9. Which among the following is not a member of the class?
3. Virtual function
b. const function
C. Static function
4" Friend function

a.  Public member

b. Protected member
£ Private member

d. Al of the mentioned

)  MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

1. Who invented Java Programming?
a. Guido van Rossum
A James Gosling
¢. Dennis Ritchie
d. Bjame Stroustrup |

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Javais a code dependent programming language
¢. Javais a platform-dependent programming language ‘,
d Javaisa platform-independent programming language

3. Which component is used to compile, debug and execute the java programs?

a. JRE

b. JIT
B DK

d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier

N keyword
d. none of the mentioned -
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5. What will be the output of the following Java code”

class increment

i
t

public static void main(String args(])
{

mg=23

System out print(++g * R);

}

6. What will be the output of the following Java program?

class output {
public static void main(String args[])
{
double a, b,c;
a = 3.0/0;
b=0/4.0,
¢=0/0.0;
Systent.out.printin(a);
System.out.printin(b);
System.out.println(c);
H
}

Wi NaN
b. Infinity
c. 0.0
d. all of the mentioned

7. What 1s not the use of “this” keyword in Java?
a. Referring to the instance variable when a local variable has the same naiii¢
¥ Passing itself to the method of the same class
c. Passing itself to another method
d. Calling another constructor in constructor chaining

8. What will be the output of the following Java program?
class variable scope {
public static void main(String args{])

s
]

int x; '
x =5
{ /
inty = 6; Dr. LEENAAV
Pﬁlﬂm%w
”mw
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)

4. Compilation error
b. Runtime error
c. 5656
d 565

9. What will be the output of the i

- following Java program?
class lefishift_operator e
{ :
public static void main(String args{])
{
byte x = 64;
int i;
byte y;
I=x<<2 e
y = (byte) (x << 2); L
System.out.print(i + " " + y); g
}

}

i 0256
b. 064
c. 2560
d. 640

10. What is the extension of compiled java classes?

a.
b.
va
d.
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D MULTIPLE CHOICE QUESTION — OOP CONCEPTS

I, Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
€ Exception
d. Abstraction
Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
J. Efficient Code
¢. Code reusability
d. Duplicate or Redundant Data
Which feature of OOPS derives the class from another class?
A. Inheritance
b. Data hiding
¢. Encapsulation
d. Polymorphism
5. Which operator from the following can be used to illustrate the feature of

'P)

RN

polymorphism?
A Overloading <<
b. Overloading &&
¢. Overloading | |
d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS
concept?
va. stdio.h
b. iostream h
¢. stdlib.h
d. We can easily use the OOPS concepts in ct++ pro
header file. . of
7. Which among the following cannot be used for the concept ofpolymorphfsﬁi?}ﬁ pt

§ without using any
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A Static member function
b, Constructor Overloading ,...éﬂ.'
¢. Member function overloading
d. Global member function
8. Which member function is assumed to call first when there is a case of using function
overloading or abstract class?
a. Global function
b. Local function
¢. Function with lowest priority
M. Function with the highest priority
9. Which among the following is not a member of the class?
a. Virtual function
b. const function
¢. Static function
A& Friend function
10. Which member of the superclass is never accessible to the subclass?
a. Public member
b. Protected member
¢ Private member
d. All of the mentioned

1) MULTIPLE CHOICE QUESTION - JAVA PROGRAMS

I. Who invented Java Programming?
a. Guido van Rossum
JH. James Gosling
¢.  Dennis Ritchie
d.  Bjarne Stroustrup

2. Which statement is true about Java?
a. Java is a sequence-dependent programming language
b. Java is a code dependent programming language
¢ Javais a platform-dependent programming language
vd. Javais a platform-independent programming language
3. Which component is used to compile, debug and execute the java programs?

- »

a. JRE
b. JIT
£ IDK
d JVM

4. Which of these cannot be used for a variable name in Java?
a. identifier & keyword
b. identifier

L. keyword
d. none of the mentioned
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What will be the output of the following Java code?

class increment

{

public static void main(String args|])
{

ntg=3;

System out print(++g * §);

|

!
a. 32

Jo33
c. 24
d 25

What will be the output of the following Java program?
class output {

public static void main(String args|])
{

double a, b,c;

a=3.0/0;

b=0/4.0;

¢=0/0.0;

System.out.printin(a);
System.out.printin(b);
System.out.println(c);

}

}
a. NaN

b. Infinity
¢c. 0.0
~d all of the mentioned

7. What is not the use of “this” keyword in Java?

a.
A

Referring to the instance variable when a local variable has the same naiie 2 ;

Passing itself to the method of the same class

c. Passing itself to another method

d.

8. What will be the output of the following Java program?
class variable scope |
public static void main(String args[])

{

int x;
x=5;

{

inty=6;

Calling another constructor in constructor chaining
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System.out.print(x + " " 4 )i

1
1

System.out.println(x + " " + y):
i
1
)
<A Compilation error
b, Runtime error
c. 5656
d 565

- What will be the output of the following Java program?
class leftshift_operator

{

public static void main(String args{|])
{

byte x = 64;

int i;

byte y;

i=x<<2;

y = (byte) (x << 2);
System.out.print(i + " " +y);

H

}
a. 0256
b. 064
< 2560
d. 640

10. What is the extension of compiled java classes?

Axt

Js
.class

SRNEE

.java
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§] MULTIPLE CHOICE QUESTION ~ QOP CONCEPTS

I Which of the following is not an OOPS concept?
a. Encapsulation
b Polymorphism
¢. Exception |
d. Abstraction
Which feature of OOPS described the reusability of code?
1. Abstraction
2. Encapsulation
3. Polymorphism
4. Inheritance
3. Which among the following feature is not in the general definition of OOPS?
a. Modularity
b. Efficient Code
¢. Code reusability
d. Duplicate or Redundant Data Wt
4. Which feature of OOPS derives the class from another class?
a. Inheritance .~
b. Data hiding
¢. Encapsulation

d. Polymorphism
5 Which operator from the following can be used to illustrate the feature of

+a

polymorphism?
a. Overloading << e
b. Overloading &&
¢. Overloading ||

d. dOverloading +=
6. Which header file is required by the C++ programming language to use the OOPS

concept?
a. stdioh
b. iostream.h
c. stdlib.h
d. We can easily use the OOPS concepts in ¢ rograms without using any
header file. Vc’i\)i"x

7. Which among the following cannot be used for the concept of pﬂtym@ﬁlsm?
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2. Which statement is true about Javs?
a.h\nklmmm
b Java s a code depondont programeming langusge
¢ Java s a plattorm-dopendont progranusing legusge

4. Which of these cannot be used for s vanable name in Java?
a. wenufier & keyword -
b. identiticr -~
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What will be the output of the following Java code”

class increment

{

public static void main(String args|[)
{

mtg= 3

System out print(++g * R);

}

i

R
BRz8

What will be the output of the following Java program?
class output {

public static void main(String args[])
{

double a, b,c;

a=3.0/0;

b=0/4.0;

¢=0/0.0;

System.out.printin(a);
System.out.printin(b);
System.out.println(c);

}

}

a. NaN

b. Infinity

. 09

d. all of the mentioned /

7. What is not the use of “this” keyword in Java?

a Referring to the instance variable when a local
b. Passing itself to the method of the same class

¢. Passing itself to another method
d. Calling another constructor in constructor chaining

% What will be the output of the following Java program?
class variable_scope {
public static void main(String args{])

{

int x;
x=5;

{

ity =6;

ch has the same naie
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}

a. Compilation error v
b. Runtime error

c. 5656

d 565

?ﬁkmcvmmmsmsmsﬁ)
byte x = 64;

int i;

byte y;

1=

y = (byte) (x <<2); Yt
System.out.print(i + " " + V) 4
} P

} e
a. 0256 2
b. 064 R
o 2560\/ ' :
d 640

10. What is the extension of compiled java classes?

4. Axt
b. Js

c. .class i

d. java
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRONICS AND COMMUNICATION ENGINEERING

REMEDIAL TIMETABLE for S4

ACADEMIC YEAR: 2019-2020/EVEN SEM

Library Hour: Tuesday — 3:00pm to 4:00pm

Date Faculty Name Subject with Code
09/03/2020 Mr. Nikhil M MA 202 - PRNM
10/03/2020

Ms. Subitha M B EC 202 - SS
11/03/2020
Ms. Srindhuna M EC204-AIC
12/03/2020
Ms. Leena Narayanan EC206-CO
13/03/2020
Ms, Roshni VV EC 208 - ACE

Library Hour: Tuesday — 3:00pm to 4:00pm

Date Faculty Name Subject with Code
20/04/2020 Mr. Nikhil M MA 202 - PRNM
21/04/2020
Ms. Subitha M B EC202-SS
22/04/2020
Ms. Srindhuna M EC 204 - AIC
23/04/2026
Ms. Leena Narayanan EC 206 - CO
24/04/2020
Ms. Roshni VV EC 208 - ACE
gie L oy
( /lg ‘ Vi SREE NARAYANA GURI:IA éOLLEGE OF

- . ENGINEERING & TECHN
i\)() A ¥4 C\,LAQ 800 (&L(/(Zl (/6 Hob € CE PAYYANUR, KANNU%LOGY



SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRONICS AND COMMUNICATION ENGINEERING

TIMETABLE FOR REMEDIAL TEST

ACADEMIC YEAR: 2019-2020/EVEN SEM

REMEDIAL TEST TIMETABLE FOR S4

Date Faculty Name - Subject with Code
20/04/2020 Mr. Nikhii M MA 202 - PRNM
21/04/2020

Ms. Subitha M B EC202-SS
22/04/2020
Ms, Srindhuna M EC204 - AIC
23/04/2020
Ms. Leena Narayanan EC206-CO
24/04/2020
Ms. Roshni V'V EC 208 - ACE

‘QQV\/LQC&* N éooq(RLM/td

Dr. LEENAAV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRONICS AND COMMUNICATION ENGINEERING

REMEDIAL CLASS DETAILS

Department: ELECTRONICS AND COMMUNICATION ENGINEERING

Date: 22/04/2020

Venue: S4 ECE Classroom
Semester: IV

Subject: Analog Integrated Circuits
Faculty: Ms. Srindhuna M

Topic: Analog Amplifier and its characteristics

Roll Number of students allotted: SNC18EC001, SNC18EC003 and SNC18EC006.

N\ e
0 =
=
FACULTY HANDLED DEPT. REMEDIAL COORDINATOR HOD
Dr. LEENAAYV
SREE NARA';FNII?l é: R G
URU COLL|
ENGINEERING & TECHNOL'E)C(;;EYOF

PAYYANUR, KANNUR




SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRONICS AND COMMUNICATION ENGINEERING

REMEDIAL CLASS TEST QUESTION PAPER & SCHEME

—

. What is the primary function of an antilog amplifier?
A) To perform multiplication

B) To perform division

C) To perform differentiation

D) To perform integration

2. Which of the following configurations is commonly used for an antilog amplifier?
A) Inverting amplifier

B) Non-inverting amplifier

C) Differential amplifier

D) Summing amplifier

3. In an antilog amplifier, the input voltage is applied to the:

B) Non-inverting input terminal
C) Summing input terminal
D) Output terminal
4. The output voltage of an antilog amplifier is proportional to the:
A) Logarithm of the input voltage
B) Square of the input voltage
() Expoincitial of the iiput voliage
D) Reciprocal of the input voltage
5. What is the transfer function of an antilog amplifier?

A) Vo = -Rf/R1 * Vin
Dr. LEENAAV

B) Vo =-Rf/R1 * log(Vin) PRINCIPAL
: SREE NARAYANA GURU COLLEGE OF
C) Vo = -RER1 * exp(Vin) ENGINEERING & TECHNOLOGY

PAYYANUR, KANNUR
D) Vo =-Rf/R1 * sqrt(Vin)
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A) Diode
B) Capacitor

C) Inductor

TN D oot
1) IUDIDLUL

7. The antilog amplifier is often used in applications where:
A) Precision logarithmic scaling is required
B) Precision linear scaling is required
C) High-frequency filtering is required
D) Low-frequency filtering is required

8. What is the effect of temperature on the performance of an antilog amplifier?

AN NAC. o1 O s
£Ap IVEILIRIEIGH ©LI0UL

B) Significant effect
C) No effect
D) Inverse effect

9. Which of the following statements is true about the input impedance of an antilog amplifier?
A) It is low
B) It is high
C) It is micdium
D) It depends on the configuration

10. In an antilog amplifier, the output voltage is:
A) Inversely proportional to the input voltage
B) Directly proportional to the input voltage
C) Unrelated to the input voltage

D) Constant

ANSWER KEY

1. Answer: A) To perform multiplication

2. Answer: A) Inverting amplifier

3. Answer: A) Inverting input terminal

4. Answer: C) Exponential of the input voltage

5. Answer: B) Vo =-RUKI * log(Vin)

6. Answer: A) Diode

7. Answer: A) Precision logarithmic scaling is required 2)
8. Answer: B) Significant effect S
9. Answer: A) Itis low <

10. Answer: B) Directly proportional to the input voltage ’; &MH'g’

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRONICS AND COMMUNICATION ENGINEERING

REMEDIAL CLASS TEST QUESTION PAPER

1. What is the primary function of an antilog amplifier?
A) To perform multiplication

\B) To perform division 0\

C) To perform differentiation

D) T'o perform integration

2. Which of the following configurations is commonly used for an antilog amplifier?

Ve()/rnverﬁng amplifier
B) .\\.‘l L‘L‘ul v \il l;.l.lé uxu}}hﬂ\d
C) Differential amplifier /

D) Summing amplifier

A/)’ﬁverting input terminal
B) Non-inverting input tennina/
C) Summing input terminal ’
D) Output terminal
4. The output voltage of an antilog amplifier is proportional to the:

A) Logarithm of the input voltage

u; u\iucuw of thie uxpiii ‘V'Uiidg,ﬁ
@fxponenﬁal of the input voltag:/
D) Reciprocal of the input voltage

5. What is the transfer function of an antilog amplifier?

o=-RR1* Vin,,
B) Vo =-RER1 * log(Vin) ~ |- Dr. LEENAAV
PRINCIPAL
C) Vo =-Rf/R1 * exp(Vin) SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY

D) Vo =-RI/R1 * sqrt( Vin) PAYYANUR, KANNUR




6. Which of the following components is used to achieve the antilogarithmic function in an antilog
amplifier?

Mjode

B) Capacitor

C) Inductor /

D) Resistor
7. The antilog amplifier is often used in applications where:
JA) Precision logarithmic scaling 1s required

B) Precision linear scaling is required

C) High-frequency filtering is r‘ejyired/

PR [ s st s B B B e o
JJ} AU YYTLL leuvuv_y Llll\dujé i IV\,‘U-IJ vl

8. What is the effect of temperature on the performance of an antilog amplifier?

C) No effect
D) Inverse effect

9. Which of the following statements is true about the input impedance of an antilog amplifier?

y is low
B) It is high /

C) It 1s medium
e i B T e e e e e
/) 1L W 1IUD VIL ULy VUllLLBNQLlUlL

10. In an antilog amplifier, the output voltage is:

A) Inversely proportional to the input voltage

C) Unrelated to the input voltage /
D) Constant

l}ﬁireetly pronortional to the innut voltage

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRICAL AND ELECTRONICS ENGINEERING

REMEDIAL TIMETABLE for S5

ACADEMIC YEAR: 2022-2023/0DD SEM

Time: 11.15am to 12.15pm

Date Faculty Name Subject with Code

03/11/2022 Ms.Archana C.P. EET305- Signals & Systems

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR




SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRICAL AND ELECTRONICS ENGINEERING

TIMETABLE FOR REMEDIAL TEST

ACADEMIC YEAR: 2022-2023/ODDSEM

Time: 11.15am to 12.15pm

REMEDIAL TEST TIMETABLE FOR S5

Date Faculty Name Subject with Code

03/11/2022 Ms.Archana C.P. EET305- Signals & Systems

W\?

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
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SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF ELECTRICAL AND ELECTRONICS ENGINEERING

REMEDIAL CLASS DETAILS

Department: ELECTRICAL AND ELECTRONICS ENGINEERING
Date: 10/11/2022

Venue: S5 EEE Classroom

Semester: Fifth

Subject: Signals and Systems

Faculty: Ms. Archana C.P.

Topic: Routh criterion

Roll Number of students allotted: SNC20EE001, SNC20EE002 and SNC20EE003

FACULTY HANDLED DEPT. REMEDIAL COORDINATOR H

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR




REMEDIAL I Academic Year/Semester 2022-23 / 5th
Semester
Subject name EET305-SIGNALS & SYSTEMS )
with code Branch EEE
Date of Issue 10/11/2022 Date of submission 10/11/2022
O.No QUESTIONS Marks | CO | Level
Analyse the stability of the given LTI system, whose
I [characteristic equation is given by 5 3 3
Q(s) = S* + 853 + 1852+16S+5 = 0 using Routh’s criterion.
2 |Check stability of the system represented by the following 5 3 3
characteristic equation,
6 + 255 + 85* + 1252 +20 52 + 165+ 16 =0
CO - Course Outcome [CO]
CO 3: Analyse the continuous time systems with Laplace Transform.
LEVEL - Bloom’s Taxonomy Level
Level 1: Reminder
Level 2: Understood
Level 3: Apply > -
O
Dr. LEENAAYV
PRINCIPAL PAGE 2 OF

SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR




SREE NARAYANA GURU COLLEGE OF ENGINEERING AND

TECHNOLOGY, PAYYANNUR. KANNUR
SCHEME OF EVALUATION

REMEDIAL I

Academic Year/Semester

2022-23/ 5t

Semester
Subject name EET305-SIGNALS & SYSTEMS o
with code Branch EEE
Date of Issue 10/11/2022 Date of submission 10/11/2022
O.No QUESTIONS

1 Steps-(4marks)
Comment on stability-( I marks)

Steps-(4marks)
2 Comment on stability-( 1 marks)

Dr. LEENéAﬁ \Y
PRINCI .
GE OF
E NARAYANA GURU COLLE
SRENGINEERlNG & TECHNOLOGY
PAYYANUR, KANNUR

PAGE 3 OF
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SREE NARAYANA GURU COLLEGE OF ENGINEERING & ) TECHNOLOGY_

f Nree Nuravits Gara Codone |
[L9f¥apueaiag 1o Ty

TIME: 4.15PMTO 5.30PM

DEPARTMENT OF MECHANICAL ENGINEERING
Remedial Classes Time table for the period of 17/10/2021 to 03/11/2021

SEMESTER 7 SEMESTER 5 SEMESTER 3
DATE&DAY
SUBJECT FACULTY SUBJECT FACULTY SUBJECT FACULTY

;Zgg ME 401 —Design of

Machine elements
18/10 MET307-Machine MET205-Metallurgy
TUE tools and metrology and material science

ME403- Advanced
19/10 E i A
WED nergy Engineering
ZO/II(K)S MET303 Thermal MET201 Mechanics

i Engineering of Solids
21?1@ 2 MET301 Mechanics of MET203 Mechanics
Machinery of Fluids
26/10 ME405- Refrigeration
WD and Air Conditioning /
27/10 MAT201-Partial A
THURS MET305 Industrial & differential Equation o
Systems Engineering & Complex Analysis Dr. LEEN AAﬁ v
e Systems i PRINCIP OL%%EYOF
ME 401 —Design of ENGINEERING & TECHN
; YYANUR, KANNUR

it Machine elements i




1/11 :
bty ME409-(?0mpresmble MCN301-Disaster HUT200-Professional
Fluid Flow Management Ethics
2/11
WED
Aetl IE306- Supply Chain HUT300-Industrial ,
THURS and Logistic Economics & Foreign MCN 201.-Sus.ta1nable
Management Trade Engineering
REMEDIANET.ASSCOORDINATOR @H‘% g
HOD
[ 4]
cenps Y
Cl
ARE(?&? GURU cou%Gé OF
ENGINEERING & Tecm\?t

PAYYANUR, KA



SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF MECHANICAL ENGINEERING
REMEDIAL TEST TIME TABLE

Date and Day Faculty Name Subject with code

02/11/2021 Mr. Jacob Thomas MET201 Mechanics of solids

03/11/2021 Mr. Arjun JayaprakashMET201 Mechanics of fluids

04/11/2021 Mr. Sarang P MET303 Thermal Engineering

08/11/2021 Mr. Arjun K IMET301 Mechanics of machinery

09/11/2021 Mr. Arun raj MEt401 Design of machine elements

REMED COORDINATOR HOD
Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY

PAYYANUR, KANNUR



SREE NARAYANA GURU COLLEGE OF ENGINEERING &
TECHNOLOGY

DEPARTMENT OF MECHANICAL ENGINEERING
REMEDIAL CLASS DETAILS

Department: MECHANICAL ENGINEERING
Date: 20/10/2021

Venue: S3 Mechanical classroom

Semester: 111

Subject : MET201 Mechanics of solids

Faculty : Mr. Jacob Thomas

Topic : Problems on torsion, Mohr circle

Register number of students attended: SNC20ME001, SNC20ME004, SNC20ME005,

SNC20ME007, SNC20ME008, SNC20ME010

REMEDIAL COORDINATOR: M

STUDENT ATTENDED(ANY);W , HOD: @‘“%’q“ ‘

i

o

Dri?k EENAAV
INCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



. . SREE NARAYANA GURU COLLEGE OF ENGINEERING
‘ &TECHNOLOGY

DEPARTMENT OF MECHANICAL ENGINNERING

MOS QUESTIONS

1. Young’s Modulus of elasticity is
(a)Tensile stress / Tensile strain
(b)Shear stress / Shear strain
(c)Tensile stress / Shear strain
(d)Shear stress / Tensile strain

2. The relationship between Young’s modulus (E), Bulk modulus (K) and
Poisson’s ratio () is given by

(@E=2K(1-2p)
(b) E=3K(1-2p)
(0E=2K(1-2p)

(d) E=2K(1-3p)

3.If the principle stresses in a plane stress problem, are 100 MPa and 40 MPa,
then the magnitude of the maximum shear stress (MPa) will be

(a) 20
(b) 30
(c) 300
(d)70

4.A two dimensional fluid element rotates like a rigid body. At a point within
the element, the pressure is 1 unit. Radius of the Mohr’s circle, characterizing
the state of stress at the point, 1s & 2

\</‘"’.— 5

DrbLEENA AV
RINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



(a) 0.5 unit
(b) 0 unit
(¢) 1 unit
(d)2 unit

5.For a simply supported beam of span L, loaded with UD.L w/m over the
whole span, the maximum B.M will be

(a) wL/4
(b) wL2 /8
(c)wL2 /4
(d) WwL2 /2

-

Dr. LEENA f« \'
PRINCIPA
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



. SREE NARAYANA GURU COLLEGE OF ENGINEERING
' &TECHNOLOGY

DEPARTMENT OF MECHANICAL ENGINNERING

MOS ANSWER KEY

la
2.b
3.b
4.b

]
4 $
[y~

s ;,A/V

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR
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| SREE NARAYANA GURU COLLEGE OF ENGINEERING
‘ &TECHNOLOGY

DEPARTMENT OF MECHANICAL ENGINNERING

MOS QUESTIONS

1. Young’s Modulus of elasticity is G , é\
%/QT ensile stress / Tensile strain : / u

(b)Shear stress / Shear strain /

(c)Tensile stress / Shear strain

(d)Shear stress / Tensile strain

2. The relationship between Young’s modulus (E), Bulk modulus (K) and
Poisson’s ratio (i) is given by

(a)E=2K(1-2)
% E=3K(1-2p)

(0)E=2K(1-2p) /

( d) E=2K(1-3p)

7~

3.If the principle stresses in a plane stress problem, are 100 MPa and 40 MPa,
then the magnitude of the maximum shear stress (MPa) will be

(a) 20
(b) 30 /

(c) 300 \(\

4.A two dimensional fluid element rotates like a rigid body. At/a point within
the element, the pressure is 1 unit. Radius of the Mohr’s circle, vgh,aracterizing
the state of stress at the point, is > i

Dr. LEENAAYV
PRINCIPAL
SREE NARAYANA GURU COLLEGE OF
ENGINEERING & TECHNOLOGY
PAYYANUR, KANNUR



(a) 0.5 unit
(b) O unit

(¢) 1 unit 7l
V@Z unit

5.For a simply supported beam of span L, loaded with U.D.L. w/m over the
whole span, the maximum B.M will be

(a) wL/4
(b) wL2 /8 /
%) wL2 /4

(d) WwL2 /2

"

-

Dr. LEENAAYV
PRINCIPAL
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